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1. Which	of	the	following	numbers	is	divisible	by	3?
(i) 4690 (ii) 4693 (iii) 4694 (iv) 4691 (v) 4692

2. Which	of	the	following	numbers	is	divisible	by	3?
(i) 1,858 (ii) 1,857 (iii) 1,859 (iv) 1,855 (v) 1,856

3. Which	of	the	following	numbers	is	divisible	by	4?
(i) 2538 (ii) 2534 (iii) 2537 (iv) 2535 (v) 2536

4. Which	of	the	following	numbers	is	divisible	by	4?
(i) 6,290 (ii) 6,293 (iii) 6,294 (iv) 6,292 (v) 6,291

5. Which	of	the	following	numbers	is	divisible	by	5?
(i) 6302 (ii) 6301 (iii) 6299 (iv) 6298 (v) 6300

6. Which	of	the	following	numbers	is	divisible	by	5?
(i) 3,129 (ii) 3,131 (iii) 3,132 (iv) 3,130 (v) 3,128

7. Which	of	the	following	numbers	is	divisible	by	6?
(i) 6,424 (ii) 6,426 (iii) 6,428 (iv) 6,425 (v) 6,427

8. Which	of	the	following	numbers	is	divisible	by	6?
(i) 2,753 (ii) 2,756 (iii) 2,755 (iv) 2,752 (v) 2,754

9. Which	of	the	following	numbers	is	divisible	by	8?
(i) 5,950 (ii) 5,951 (iii) 5,954 (iv) 5,953 (v) 5,952

10. Which	of	the	following	numbers	is	divisible	by	9?
(i) 8584 (ii) 8588 (iii) 8586 (iv) 8585 (v) 8587

11. Which	of	the	following	numbers	is	divisible	by	9?
(i) 9,018 (ii) 9,020 (iii) 9,017 (iv) 9,016 (v) 9,019

12. Which	of	the	following	numbers	is	divisible	by	10?
(i) 9081 (ii) 9082 (iii) 9079 (iv) 9078 (v) 9080

13. Which	of	the	following	numbers	is	divisible	by	10?
(i) 8,748 (ii) 8,750 (iii) 8,751 (iv) 8,752 (v) 8,749

14. Which	of	the	following	numbers	is	divisible	by	11?
(i) 1729 (ii) 1726 (iii) 1725 (iv) 1728 (v) 1727



15. Which	of	the	following	numbers	is	divisible	by	11?
(i) 6,589 (ii) 6,587 (iii) 6,591 (iv) 6,590 (v) 6,588

16. Which	of	the	following	numbers	is	divisible	by	3?
(i) 2,358 (ii) 2,360 (iii) 2,356 (iv) 2,357 (v) 2,359

17. Which	of	the	following	numbers	is	divisible	by	4?
(i) 2,728 (ii) 2,726 (iii) 2,727 (iv) 2,729 (v) 2,730

18. Which	of	the	following	numbers	is	divisible	by	5?
(i) 5,807 (ii) 5,805 (iii) 5,806 (iv) 5,803 (v) 5,804

19. Which	of	the	following	numbers	is	divisible	by	6?
(i) 5884 (ii) 5885 (iii) 5887 (iv) 5888 (v) 5886

20. Which	of	the	following	numbers	is	divisible	by	8?
(i) 2,233 (ii) 2,232 (iii) 2,230 (iv) 2,234 (v) 2,231

21. Which	of	the	following	numbers	is	divisible	by	9?
(i) 7,435 (ii) 7,432 (iii) 7,433 (iv) 7,436 (v) 7,434

22. Which	of	the	following	numbers	is	divisible	by	10?
(i) 4,820 (ii) 4,818 (iii) 4,821 (iv) 4,819 (v) 4,822

23. Which	of	the	following	numbers	is	divisible	by	11?
(i) 2,991 (ii) 2,994 (iii) 2,993 (iv) 2,990 (v) 2,992
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